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BT Oy B R(T A

so s |EmTFE| EELd | REDER | EEDE RER itk BRaEt RiGEHRAEE I
H(m) al(m) a2(m) n m Al=(a1+a2)/2 x Hx J " (1+n?)| A2=(a1+a2)/2 X H X J (1+m?) A1+A2(m2) |A3=(al+a2)/2 X H(m2)
9-3 1.500 3.000 3.000 0.200 459 0 4.59 4.50
15-1 1.500 4.250 4.250 0.200 6.50 0 6.50 6.38
15-2 1.500 4,750 4.750 0.200 1.27 0 1.27 713
16-1 0.500 4.250 4.250 0.200 217 0 217 2.13
16-2 0.500 4.250 4.000 0.200 210 0 2.10 2.06
16-3 0.800 4.000 0.000 0.200 1.63 0 1.63 1.60
17-1 0.500 4.750 4.750 0.200 242 0 242 2.38
17-2 0.500 4.750 4.500 0.200 2.36 0 2.36 2.31
17-3 0.900 4.500 0.000 0.200 2.07 0 2.07 2.03
&it 31.11 30.52
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so s |EmTFE| EELd | REDER | EEDE RER itk BRaEt RiGEHRAEE I
H(m) al(m) a2(m) n m Al=(a1+a2)/2 x Hx J " (1+n?)| A2=(a1+a2)/2 X H X J (1+m?) A1+A2(m2)  [A3=(al+a2)/2 X Hx 2(m2)
9-3 1.500 3.000 3.000 0.500 0.00 5.03 5.03
15-1 1.500 4.250 4.250 0.500 0.00 7.13 7.13
15-2 1.500 4,750 4.750 0.500 0.00 1.97 1.97 713
16-1 0.500 4.250 4.250 0.500 0.00 2.38 2.38 2.13
16-2 0.500 4.250 4.000 0.000 0.00 2.06 2.06 2.06
16-3 0.800 4.000 0.000 0.000 0.00 1.6 1.60 1.60
17-1 0.500 4.750 4.750 0.500 0.00 2.66 2.66 2.38
17-2 0.500 4.750 4.500 0.000 0.00 2.31 2.31 2.31
17-3 0.900 4.500 0.000 0.000 0.00 2.03 2.03 2.03
&it 33.17 19.64
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2EEEEOY)—

o | B¢ |EETR[EELD[METR]@ELD] 22—t o B =
b7 H(m) al(m) a2(m) b1(m) b2(m) V(m3) V=H/6 x { (2xal+a2) xbl + (2Xa2+al) Xb2 }

1 1.000 8.200 9.974 1.140 0.940 9.42 1.000 /6 x{(2x 8200 + 9974 ) x 1140 +(2 x 9974 + 8200) x 0.940 9.42
2-1 0.700 9.974 11.215 0.940 0.800 6.44 0700 /6 x{(2x 9974 + 11215 ) x 0940+ (2 x 11215 + 9974) x 0.800 6.44
2-2 0.500 11.215 11.679 0.800 0.700 4.29 0500 /6 x{(2x 11215 + 11679 ) x 0.800+(2 x 11.679 + 11.215) x 0.700 429

3 1.100 3.217 3.000 0.700 0.700 2.39 1100 /6 x{(2x 3217 + 3000 ) x 0700+ (2 x 3000 + 3217) % 0.700 2.39

4 1.100 5.393 5.500 0.700 0.700 419 1100 /6 x{(2x 5393 + 5500 ) x 0700+(2 x 5500 + 5393) x 0.700 419
&t 26.73[(m3)
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H(m) al(m) a2(m) n m Al=(a1+a2)/2 x Hx " (1+n)| A2=(a1+a2)/2 x HX / (1+m®)| A1+A2(m2) |A3=(al+a2)/2 X H(m2)

2-1 0.700 7.150 7.150 0.200 5.10 0 5.10 i

2-2 0.500 7.150 7.150 0.200 3.65 0 3.65 "

3 1.100 2.172 1.622 0.000 2.09 0 2.09 2.09 "
4 1.100 4.037 3.457 0.000 412 0 4.12 4.12 "
2-1 0.700 7.150 7.150 0.000 0.00 5.01 5.01 L
2-2 0.500 7.150 7.150 0.000 0.00 3.58 3.58 "
3 1.100 2.172 1.622 0.000 0.00 2.09 2.09 2.09 "
4 1.100 4.037 3.457 0.000 0.00 4.12 4.12 4.12 "

&5t 29.76 12.42
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(ki)

TE®EHE 2.726 m2

(D) TE@EH 0.000 m2

p
R | [ [ | =R
S i —

— //
L@@ 4.543 n2
THEEHE 0.000 m2
(T3
(EF)
£ 1.239
® LEER 0.710 m2 @ ngf 0.313 [r:;
/] TEEM 0.268 m2 nE
T — —
= I w
@R | L [ | &®)
N : 7//
ED EEE#® 1,183 m2 LEEE 2 065 m2
FEEM 0.447 n2 © Tamm 0522 m2
(T3
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| EmE 0.869 n2 ©  cmmm o2 m
77| FEE®R 0.470 n2 Nﬁzﬁ 0.291 m2
—
=S I w
CLON L | =R
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LEEH® 1.046 m2

| EEEH 1.183 m2
TEEHE 0.783 m2
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25 EEEMFEIVYY—
— = t@mE | TEE by} = 30] EREL Mg —k RIEER e
H(m) Al(m) A2(m) a(m) b(m) n V=H/3 x ((A1+A2+/ (A1 x A2)) A=(a+b)/2 X HX ¥ (1+n%)

1 1.000 2.726 0.000 0.91 0.00
2 1.200 1.239 0.313 0.660 0.300 0.000 0.87 0.58
3 1.100 0.852 0.291 0.990 0.660 0.000 0.60 0.91
4 1.200 0.710 0.268 0.660 0.300 0.000 0.57 0.58
5 1.100 0.869 0.470 0.990 0.660 0.000 0.73 0.91
6 1.000 4.543 0.000 1.51 0.00
7 1.200 1.183 0.447 1.100 0.500 0.000 0.94 0.96
8 1.100 1.183 0.783 1.430 1.100 0.000 1.07 1.39
9 1.200 2.065 0.522 1.100 0.500 0.000 1.45 0.96
10 1.100 1.046 0.485 1.430 1.100 0.000 0.82 1.39

&&t 9.47 7.68
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R—54vav5Y—k | 18-5-40 E4FB |68.2%0.05-0.2 32 m
WA E|FEFH15~20cm|45.2 452 m’
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avy\—k 18-8-40 =B [8.3 83 m’
AAR 28.4 284 m’
215 HERE (235 23.5 Him’
~R—54ravsy—k| 18-5-40 E4FB 0.2 02 m
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OfRExEMIBME LHE

REWEEHRE
i 3. 0m*27& 81.0
(#1) 1. 0m*27A& 21.0
HEz 3. 0m*264 78.0
#z (EE) 2. 0m*264 52.0
H&EE 45. Om*3E% 135.0
= 373.0 m
9507 8{E*25E 200.0 &
1 BE L Vil 3 =
R 45.0/0. 54 83.3 #&
LZEGHETHE
BIWR 4.0m*8. Om 32.0 m2
= () 1. 0m*162 16.0
= (1) 4. 0m*12A 48.0
9507 32.0 {&
YL PhEMSE

H#Z$H (H-200)

(4. 8mk4A+3. 8m*24<) *49. 9kg/m

1,337 kg

H#Z$H (H-100)

(6. Om*2A<+4. 6m+10. Om) *16. 9kg/m

450 kg




